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4). Member ABC which is supported by a pin and bracket at C and a cable BD, was designed to support
the 16 kN load P as shown. Knowing that the ultimate load for cable BD is 100 kN, determine the
factor of safety with respect to cable failure.

Figure 4.
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5). A vibration isolation unit consists of two blocks of hard rubber bonded to a plate AB and to rigid
supports as shown. Knowing that a force of magnitude P = 25 kN causes a downward movement of 25
mm of plate AB,determine the modulus of rigidity (shear modulus, G) of the rubber used.

150 mm

7. 4

A
% Rigid supports

—

30 mm 30 mm

Figure 5.
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6). The solid shaft AB diameter of 60 mm and solid shaft CD diameter of 45 mm are fixed and
connected to gears B and C as shown. The gear B has diameter of 100 mm and gear C has diameter of

62.5 mm. Knowing that a 4kN-m torque T is applied to gear B determine the maximum shearing stress
in shaft AB and CD

Fixed Gear B

Figure 6.



